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Use the[Mean Value Theorem ffo determine where the slope of the secant
line equals the slope of the tangent line -
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92. Let f be the fi
which the(i

x) = x + In(x). What is the value of ¢ for
Aat x = ¢ is the same as the average
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If fix)= COS{; ] then there exists a number ¢ in the interval E <x< e~ that

satisfies the conclusion of the Mean Value Theorem. Find those values.
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Water is draining from a conical tank with hgigh nd duamctt,r 8 feet

into a cylindrical tank that has a base with
h, in feet, of the water in the conical tank is ¢ ungmb C

feet per minute. Volume of a cone: V' = %m':h | (1':-'-[0()'3"

dh _w-1n
dt

Write an expression inr the \olume ut water in the conical tank as a function

At what rate is the volume of water in the conical tank changing whcl@
1
2 Vo Lghtdh
v=17h : ™ h
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Let y be the depth, in feet, of the water in the cylindrical tank. At what rate is
y changing when h = 3? Indicate units of measure.
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